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ISubject Combined Graduate Level Examination Tier | 2022

Section : General Intelligence and Reasoning
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Question ID : 26433068710
Status : Answered
Chosen Option : 3

Q.2 I Ay &1 799 FINT, S AW Ueg A IW TR et 8, SoRT TR gIRT 3 vgd
TTeg A et 31 (gt ot srfyf Y =gt & =0 & i S iR ok A wreg A SigRl
P TRAIISHIRER] P HE&IT P ATYR U TH-gAY § Jfd ) g =nige)
W:W::Yﬁ?ﬂ:?
Ans X 1. @HS!
7 2. 8RR
o 3. 918l

7 4. gRoft

Question ID : 26433068355
Status : Answered
Chosen Option : 3




Q3 el & d I Tg=g $1 794 P R & 7€ ensit & &t ad ddy g, < dd@y
M Rw Tu T Y e fia R
(Fie: ey TEmait W wis ot ddftrar 39% gew il § faurima farg fam, gof Tt
WA FFIZI)
(2,125, 3)
(1, 64, 3)

Ans X 1.(4,341,3)
X 2.(2,100, 8)
X 3.(12, 50, 13)
& 4. (5,512, 3)

Question ID : 26433069248
Status : Answered
Chosen Option : 4

Q4 rrfafem T 7 Tofem w0 & fe Rwedt & & 7 e 2 SEmit 3 SR aEwE @
14 + 39-(V144 = 4) + (5% 3)- 6 = 63
Ans X 1.53fR39
o 2.43R3
X 3.143R6
X 4.43R6

Question ID : 26433069211
Status : Answered
Chosen Option : 2

Q.5 fEfifad IR seR-TaeE! # F 99 ol A adie @ T § 8 39 YR Ue 998
T &1 P AT AeR-TAo 39 JUE I Saferd 781 872
Ans X 1. MNG

X 2.ST™
< 3.ABU
« 4. HED

Question ID : 26433081492
Status : Answered
Chosen Option : 4

Q.6 Tw [Af¥d e YT H, BELOVED %1 65 % &4 ¥ Fedss f$al Wrar 3k FLOWER &1 79 &
U ¥ ged fbar wirar 21 3¢t utar § QUIVER 1 {5 UaR Beas far s
Ans X 1.91

X 294
X 3.9
& 4.92

Question ID : 26433068000
Status : Answered
Chosen Option : 4
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wfaeuTia s¥m|

gl Ufe: 243, 162, 9
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Ans 7 1.32

X223

X321

X 4.12

Question ID : 26433069127
Status : Answered
Chosen Option : 1

Q.8 dF FYAl & arg i fAsed 1, 1 3R 11 3T 7T §1 Fu=l @) o 9 g, Wa € 3 W

Ans

U A 7ra gt A i dfia 819 8, FPuifya &3 5 - Feed syt &1 aifée wa
{ SFHRT BT 2/Hd B |

Tﬁ’lF-l
Tz 1A F
wmﬁaﬁs‘"\&ﬂﬁq |
It AT IEPA g
Rfty, ewE
. O g, Az g1
Il. TO I9HH 1S §
Il $© d5H WAy,

X 1. Bad (B 11 3R 111 STERUT AR § |
X 2. Pad s | 3R 111 SFER0 B B
X 3. Had B | 3TR 11 STERU B B
4. T frsep s 3R BRa B

Question ID : 26433068644
Status : Answered
Chosen Option : 4

Q.9

Ans

Frafafaa & 3 $19 a1 sieR-aqg &t ¥ T § usfig (?) F RIME W 3mem?
MDSA, KERC, ?, GGPG, EHOI

& 1. IFQE
X 2. IEQF
X 3. IFQG
X 4.1QFE

Question ID : 26433065950
Status : Answered
Chosen Option : 1

Q.10 TS 3rerH faar T 8, O A ¢ ue g 81 2T e fawenl # 9 98 9%} fawew g, st

Ans

3T Bt R PRI
NDRF, NZJT, NVBH, NRTV, ?

< 1. NJRM
2 2.NTQC
« 3.NNLJ
7 4.NIRQ

Question ID : 264330104843
Status : Answered
Chosen Option : 3




Q.11 frgfafaa # & w9 @ e §f 7€ I # uyRE (7) F A W amaft?

121, 169, 289, ?, 529, 841
Ans X 1.343

X 2.484
X 3. 441
4. 361

Question ID : 26433068838
Status : Answered
Chosen Option : 4

Q.12 39 fameq &1 ag &Y St A T& A I UPR Hefid 8, S yer ugel T@n gast
T | Heftra @ 3R uiedY W= od) Hen @ Safta g1
10:45::?:28::11:55
Ans X 1.9
& 2.8
X 3.12

X 4.10

Question ID : 26433059934
Status : Not Answered
Chosen Option : --

Q.13 I fITed o1 7 P o Y 7T =gl & 39 Ul w0 3l Frefa sear g S wsa A 3
3Rl Wi A 3md B
1- Miscellaneous
2- Miscalculate
3- Mischance
4- Miscall
5- Miscasting

Ans X 1.2,4,1,53
& 2.2,4,51,3
X 3.4,2,51,3
X 4.4,2,5 3,1

Question ID : 26433079451
Status : Answered
Chosen Option : 2

Q.14 3T Y 3 R F) U § WER geoq W FufifEd & § S a1 wHieor 98 grm?
+ dYT +

Ans X 1.16+2x6+3-7=50
K 2.16+8x2+6-9=10
K 3.9x18+27+36-30=18
& 4.9+3x2-8+1=-1

Question ID : 264330105119
Status : Answered
Chosen Option : 4




Q15 v UATFR oliehr T &f [Tl & g 71 ar g I« FW I $oldh W)

'6' @ 3 @ &, ar A T Gereh 9T i JEar @

Ans 7 1.4
X 22
X 3.5
X 4.3

Question ID : 26433082326
Status : Answered
Chosen Option : 1

Q.16 T® A e YT §, "NULLIFY" 1 "MFOLRUB' foraT SiTaT @ 8fiR "SKYWALK' &1
"HPBWZOP' foraT sirar 81 St U # 'FLAGGER' &% ferar s

Ans 7 1. UOZGTVI
/< 2.U0zZITVL
/< 3.VOzZGTVI
< 4. UOZHTVI

Question ID : 26433059894
Status : Answered
Chosen Option : 1

Q.17 2 RT T uy ¥ $© BY 3R I a8 31 HYUI W 31Uia oo frepd g 1w ¥ iy
T FYT B e A, YA & ST JTHIE: FId T A frgar g | 9 e 1 ik R
fruifea o3 & F19 § forepd, 1T 7T FY=1 &1 aifdhe 0 F SFERU FA 81

DY
L.t Q,MEl
.o, Mgl
ﬁl‘ﬁﬂf:
1.$9 0, QT8I &1
0.3l m, Q gl
Ans X 1.1 TYT Il G FeemY STERO R §

X 2. Pad fIshy | 3TERU BT §
X 3. Pad By || 3TERI BT §
& 4 B 1t Frsp ofeRur Tl aRar §

Question ID : 264330104917
Status : Answered
Chosen Option : 4




Q.18 = fou T vy ¥, TR @ g AT 7 ¥ | vl g # (<) & arft 3R & S e () &
T SR & 1§ Wen ¥ e adb/rauRidy @ WEitd 71 i g St Ue ae/Aaaeey
¥ YR W IAME 7| 3T e faeeat & & fwm &1 g1 (am < el o1 3% waee
3t # favtfora fpg fam, qof wemsit wr wfsart frearfaa @1 st wnfgw ) Sarewor 137 -
13 IR HfHATE 39 & 13 § SigATaeHIATON ST onfe frar s H@war 31 13 Bt 1 SR 3 A
dreAT 3R 3R fFR 1 3R 3 WR vy wfshaTd A Ft srgafa T8 @)

Ans X 1.12-141
 2.8-60
< 3.6-33
X 4.10-97

Question ID : 264330105058
Status : Answered
Chosen Option : 2

Q.19 ?mﬁm%mmﬁ,ﬁmmﬁmww iR 8, oRT TR gHRT XS U8 d g
I
(=rsg} Y 3rfyut S/ =rea) & U o WA ST AR SR 38 Mg W 31&RY F W@/
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SPY : 313 :: TEYST : ?
Ans X 1.4

K2
X3
& 4. 9

Question ID : 26433056814
Status : Answered
Chosen Option : 4

Q.20 ﬁ#ﬁmﬁawﬁﬁﬁaﬁmﬁwmﬁ%umm BT (1) TUT (1)
F 9 |1 g2
x qUT—, 4TqYUT5
1L9+3x6+5—4
.5-4x3+6+2

Ans X 1.8,6
< 2.20,17
 3.17,20
X 4.16,20

Question ID : 264330105152
Status : Answered
Chosen Option : 3
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Question ID : 26433070437

Status : Answered

Chosen Option : 2




Q22 gRIXx Y BT IS B X, BRI UM, X+BHT IS e fo X, B AT g, X -Y BT 3S & 5
X, Y &1 HTE §, a Fafefad & @ o9 91 v g8 Fefud #xar g, fF A, c s1fuarg?

Ans 1. AxB-C
X 2A-BxC
X 3 AxC-B
X 4 AxB=+C

Question ID : 264330104997
Status : Not Answered
Chosen Option : --

Q23 A-BHTAf P A, BFIHETY
A%BBTATEF A, BRTUE S
A$BHTIIEF A, BFITEAD
A@BHTATEfF A, BITTHE
IIL@M-N$O%P & LBTPA T HIY 2

Ans 1. 9rell
< 2. fuar
o 3. 118
X4g

Question ID : 26433059908
Status : Answered
Chosen Option : 4
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Question ID : 26433080516
Status : Answered
Chosen Option : 3




Q.25 3 fasey ong il 1 oy wiifore ot 1R s ol & 599 M & e H ofafifea 81 caam it srafa Al ®)

Ans
1. ;

Question ID : 26433068020

Status : Answered

Chosen Option : 1

Section : General Awareness

Q.1 1867 ¥ T3 ¥ ®ITf4, A wiferTd wfadel H geM, 919 {9918 S U B
3R ufgarsit # Rien ) Memfa s i 1 7ir Bt

Ans o 1. T IES
% 2. I gE
2 3. 9¢ qH
X 4. qIRNYS FHS

Question ID : 26433085309

Status : Answered

Chosen Option : 4

Q.2 oA FrarHeR Fafafed ® A 5 arr a3 $ 9= 915F W) 82
Ans X 1. H3TH

X 2.9R

3.9

X 4. g

Question ID : 26433074116

Status : Not Answered

Chosen Option : --




Q3 gﬁmwmmmﬂﬁmwﬁgWGﬁaﬁmﬁ?mﬁm%,wm
?

Ans X 1.f3g
2. URqEH
7 3. AT
X 4. 3w

Question ID : 26433072635
Status : Answered
Chosen Option : 2

Q.4 The appointments committee of cabinet (ACC) extended the tenure of current
Research and Analysis Wing (RAW) chief for another year, till June 30, 2023. Who is
the current chief?

Ans X 1. Mukul Rohatgi
«” 2. Samant Kumar Goel
/< 3. Sunil Barthwal
< 4. Anil Chauhan

Question ID : 264330105242
Status : Not Answered
Chosen Option : --

Q5 el o1 uRis e SRt 7 e 5 adia & weman S 32
Ans X 1. ST

X 2. BRad

X 3.9

4. 30

Question ID : 26433074088
Status : Answered
Chosen Option : 4

Q.6 et Wifae AT & SiafTa u1= &) 71 Hed 82
Ans X 1. Ty

o 2. TR

x3gl

X 4. fe=m

Question ID : 264330105459
Status : Answered
Chosen Option : 2

Q.7 YRAG Fgr TG WM (Indian Institute of remote sensing) BT TITIT Fgi g5 N2
Ans X 1. GSHaNdl

2. SIS
< 3. e
X 4. P

Question ID : 26433089211
Status : Not Answered
Chosen Option : --




Q.8 The real executive power is vested in the Council of Ministers with the
as its head.

Ans X 1. Speaker of Rajya Sabha
< 2. Vice President
«” 3. Prime Minister
/< 4. President

Question ID : 26433086765
Status : Answered
Chosen Option : 4

Q.9 2022 # fra T B Hem o & aga u N A FENG A e
Ans X 1. DHARE

2. T

< 3. 3fed AR

X 4. 3ifirSia vgrerd

Question ID : 26433054478
Status : Answered
Chosen Option : 4

Q.10 :ﬁmﬁ'ﬂﬁaﬂm:rﬁimamfaﬂ%%m H URHE HE el Bt RITTT T TS
[

Ans X 1.3%d
2.9

X 3. Baml

X 4. TER

Question ID : 264330105586
Status : Not Answered
Chosen Option : --

Q.1 =g AferEt o Yy 1 fafirs wifeal o1 Iwia frean @, Fafif@a 3 @ o=l yfydfer
P UK A & T Yy F = F 9 ot e

Ans 1 Gdar
7 2. =TATHNT
X 3. 5w
X 4. dfce=ien

Question ID : 264330105419
Status : Not Answered
Chosen Option : --

Q.12 ;:%zozzﬁ,ﬁmw%mnﬁ%ﬁﬁﬁnﬁmﬁ%ﬁq SREUT P} Tryon
|

Ans X 1.20 Ufa=d
o 2. 33 UfcRrd
X 3. 27 ufa=a
X 4. 10 ufa=d

Question ID : 264330105268
Status : Not Answered
Chosen Option : --




Q13 mﬁuaﬂma@qgﬁﬁzﬁﬁﬁwmﬁ%mu%wﬁ'wgﬁaﬂmwm
T

Ans X 1. I Ef¥HIOr § uikac

2. Ui Shae el sroe

7< 3. 73 qp-iid BT T

X 4. T3 3R arsit & IdTe H gfg

Question ID : 26433065439
Status : Answered
Chosen Option : 2

Q.14 peara #, 519 g e & 3 a1 B8 | T ¢ 3R e 3R <o arg & Waw et 8, @
Exl HEI a1 31

Ans X 1. fideac
2. aEw
X 3. M3 S
X 4. B3

Question ID : 26433059446
Status : Answered
Chosen Option : 4

Q.15 ford YR I TS &A1Y 3T+ FHT ST HId &2
Ans 1.9/

Xod=
X 3.98%
X 4.9R

Question ID : 264330105515
Status : Answered
Chosen Option : 4

Q.16 YRd A AgHSA Tal T Ao fpa ar fear 32
Ans X 1.3 §R

2. TFH SR

X 3. d el

X 4. TSR

Question ID : 26433071541
Status : Not Answered

Chosen Option : --

Q.17 10 3 2022 TF Y WSB! & AR, Fufafag & @ 919 ggadt & genh g2
Ans X 1. 3fRdl SHDRMA

X 2. 4 yorpH

X 3. & afdferTy

o 4. T T

Question ID : 26433054555
Status : Answered
Chosen Option : 4




U1 eT A T T B ¥ TR ST

=T A = B

i. FEAITRERRR a. HTAEA Hr
HHT

i. HASNT g3ZAT | b. 3R Fr FAT

Hir AR

iii. TFaTESaT c. Fiorrma Fr
FHT

iv. €T d. W T AT

Ans X 1.i-c, ii-b, iii-d, iv-a
X 2.iDb, ii-a, iii-c, iv-d
& 3.i-b, ii-c, iii-a, iv-d
o« 4. i-d, i-c, iii-b, iv-a

Question ID : 26433064148
Status : Answered
Chosen Option : 4

Q.19 In 1664, who discovered the fifth star in the Trapezium, an asterism (mini-

constellation) in the constellation Orion?

Ans X 1. George Willis Ritchey

/< 2. Giordano Bruno
«” 3. Robert Hooke
/< 4. Johannes Kepler

Question ID : 26433064054
Status : Answered
Chosen Option : 2

Q.20 firep JTE AMRAMBTIpH__ Tl

Ans X 1.14
X 28
& 3.10
X 4.12

Question ID : 264330105481
Status : Answered
Chosen Option : 3




Q.21 TR TN FT TP PR g verd 2, =il Argswifaud fipan & e e
gfoRIeh g1aT 8 3R srcia it 71 & sraere=T | ToRan 21

Ans X 1. ®dss
2.8
X 3. refeq
% 4. PfeARS

Question ID : 26433087874
Status : Answered
Chosen Option : 2

Q.22 aﬂgmzozzﬁmhﬁﬁ&{mﬁumm(CVC)%Wﬁ'ﬁWNﬁH@
?

Ans ¢1.§{§1‘HQ¢IW
X 2. vy
X 3. 7HIG AR
2< 4. 3rofig e

Question ID : 264330105327
Status : Answered
Chosen Option : 1

Q.23 ¥ 3R VAT F (GST) F | AR A2
Ans 1. 1A 2017

7< 2.1 30T 2016

< 3.1 30 2017

2 4.172 2016

Question ID : 264330105387
Status : Answered
Chosen Option : 1

Q.24 yeeral & Rraraal A Fafafea & @ 58 sl & Wrea & ©u # §E1 §wer 912
Ans (1. 94T

X 2,98

X 3R

4. TRA

Question ID : 264330105201
Status : Answered
Chosen Option : 3

Q.25 What is the average height of troposphere?
Ans X 1.8km

 2.13km
X 3.24 km
25 4.20 km

Question ID : 264330105648
Status : Answered
Chosen Option : 3

Section : Quantitative Aptitude




Q1 Tf 225 YRS Pt FIAA a1 12 TR WA W 3 TR g 2T o €, @ vl
TIRTE W gUTd ge wang?

Ans X 1.20.83%
X2 15%
3 20%

X4 24%

Question ID : 26433076181
Status : Answered
Chosen Option : 3

Q.2 Tf cot A = 15/8 §, &l tan 2 A BT A FT N2
Ans X 1.240/173
 2.240/161
2 3.220/171
% 4.200/161

Question ID : 264330105899
Status : Answered
Chosen Option : 2

Q.3 gy A AT BT 16% AT W TH MR 94971 3R 3G 7 T 32% ATH W 7S &Y 99 g
Tfe w® A TR & 1T Rs.3,828 BT Y o, ot vigw = 39& e fvasit ik &1

YIraT far ur?
Ans 7 1.Rs.2,500
< 2. Rs.3,200
7< 3.Rs.2,800

X 4.Rs.1,600

Question ID : 26433063695
Status : Answered
Chosen Option : 1

Q4
Cos(-25) & HI 4T grem?

Ans 1
& 1. 5
X2 1
x3 0

V3

Question ID : 26433066424
Status : Answered
Chosen Option : 1




A% <0s37° o1 oy T BT

gin53°

Ans

x 1.

x 2.
& 3.

[ =T o= T Y

1
X4 —

Question ID : 26433061179
Status : Answered
Chosen Option : 3

Q.6 @i S Uy ST e TR 20 om B AR ST IS 12 om F1 AR 05U I AT 1 em 2. T U5 F 9SH dAw
TS W GRHEE & o YF 0B a8l 8l (7 =2

AnS X1 1.662.67 cm?
X2 1.772.76 cm?®
¢ 3 1.552.57 cm?

X 4. 1.442.48 cm?

Question ID : 26433065024
Status : Answered
Chosen Option : 1

Q.7 Choose the correct statement from the following.
Ans X 1. HCF is also called the least common divisor.

5 2. In prime factorisation method of HCF, the multiples of all the given numbers are listed.
< 3. HCF is the least common multiple of the given numbers.

«” 4. HCF of two or more numbers is the highest number which perfectly divides all the
given numbers.

Question ID : 26433075041
Status : Answered
Chosen Option : 4

Q.8 %6,50,000 B HIHA dATeHt BR F© SIS UHT (AhTel YITAT) HIP WG Sl 3 1 [y AR
W, THHRA 10% PT ATYRTN ST TN AT 3 SR AR BT YA 225,000 FY 20 AT
a1 farvat § fpaT ST 8 1 ST3 Uie (AcpTel YITdT) Pt 10 fra=it @2

Ans X 1. %1,55,945
v 2 21,95.455
X 3. 21,94,555
X 4. 1,45,955

Question ID : 26433081718
Status : Not Answered
Chosen Option : --




Q.9 = faar wur 9N i 8 T W AS ! B O FI g¥ifar 81 37 9 8 T | ASH B
e ST 12000 B 1 TP fAfIy v & aso! 3t T@m o1 371 Wl 8 Tpal § aso! o1 pa
T & ufamra & = § gxifar man g1

§1 qUT S2 & ASH! B AT TWAT, S6 TUT S8 H ASH! B 3N T o1 foba=it ufa=ra
?

Ans X 1.172.26 Ufa=id
X 2.192.24 gfa=rd
< 3.133.33 Ufawd
o 4. 146.15 Ufa=rd

Question ID : 264330105775
Status : Answered
Chosen Option : 4

Q10 350 4 926 4 2718 4 928 4 920 foymfeifEa § O fvy s T favrsa B2

Ans X 1.7
X 2.2
X 3.5
& 4.1

Question ID : 26433075343
Status : Not Answered
Chosen Option : --




Q.1 3 § ¢ arferet v Fifda e ¥ 5% oA gt by g aron @) g 21
fear | amE=
HFEaR | 20°
AT | 45°
Ejlﬂ':n'{' Qe
w 5Q°
QW'IT 25°
orfeae 55°
TEER 60°

THIGR YT HIGAR B e ool fbg T a1 3R YEFaR adT AfaR &t e
3ot T 1Y arqur § fpa siav 82

Ans X 1. 25fsh
o 2. 15 TS
< 3.20 ot
X 4. 10 f&h

Question ID : 264330105746
Status : Answered
Chosen Option : 4

Q.12 TS 50 .7, = arat g & 40 V.. TETE B o Sitar W= o 81 W g9 7 40 A,
gﬁﬁmﬁvﬁmﬁwa{wmﬂmvﬁmﬁmﬁmsoﬁ.ﬁ.%ﬁwgﬁﬁmﬁ
?

Ans X 11591

X 2,109

 3.59.

X 4209

Question ID : 264330105865
Status : Answered
Chosen Option : 2

Q.13

B 4 2
Az p=7 + 4v3, @ BB o e e ¥ 2

Ans X 1.2176
& 2.2716
X 3.2167
X 4.2617

Question ID : 26433075378
Status : Answered
Chosen Option : 2




Q.14 Tfe x, 12.8 3R 64.8 T WU &, & x BT AMF &:
Ans X 1.264

X 2.34

X 3.32
& 4.288

Question ID : 26433065281
Status : Answered
Chosen Option : 4

Q.15 i3 & 7€ aiftreT 6 fAftr T<A | TP WO H HIT A AT AfRTA P HE@I B gl &
I

=T | =g
7 200
K 300
7 500
M 600
N 700
P 200

L & Hd&or § YRT o 9Tl safRTal Y |, J & Faaor § YT o aTel safaad) $ e
o1 foar ufa=rd 87

Ans X 1.80 ufazd
2. 250 Ufa=rd
2< 3. 200 Ul
X 4. 40 fa=rd

Question ID : 264330105728
Status : Answered
Chosen Option : 2

Q.16 G¥HI & TP WE A 6 I # U $TH I3 $1 e fovan, Afde &3 i3 18 aafda v
gﬁm??mm afe o 8 fa=if & R1 fpam wran 2, @t yr ® fram gout A &1 #v &1 ol
12

Ans X 1.188
2 2. 150
X 3.300
& 4.252

Question ID : 26433081610
Status : Not Answered
Chosen Option : --




Q.17 ﬁﬁquaﬁaeﬁﬁm%@;ﬂ%mﬁaﬁm%l 31 a i 6 BiFeat w1 pa
IeTe 12000 21 T fafiy bt & Iaure o1 39 Tt 6 Hideal & pot Iae & ufaza
F U # guifar T g

J1 =P dUTR & 3RId IUTGH BT HAI
J2 = QAU T F 3iId IeuTe HT A
(J1 = J2) T A T 8?2

Ans 7 1.420
< 2.340
/< 3.360
< 4.400

Question ID : 264330105780
Status : Answered
Chosen Option : 1

Q.18 U®H PSR & U 2220 kg I ¢ | AT} &b Teh U P a8 20% TTH TR aUT AW B
12% TTY W I°aT 8 | S Pt FAATHR 18% BT ATYH W BT &1 12% TATH TR ST T A

(kg #) T A2

Ans X 1.1210
X 2. 425
3. 555
X 4. 1665

Question ID : 26433061132
Status : Answered
Chosen Option : 4

A9 o g Py A S 7[5 A7 31 v g Py w1 e w2
Ans % 12543 da2

v 2 49,3 A2

X3 3643 A2

X 4.32.f3 @2

Question ID : 264330105823
Status : Answered
Chosen Option : 2




Q.20 T fpaa) g A o wPpd & ot & Ffda figaif & g To?

Ans X 1. %adqr

X 2.usaa

X 3. %ad T

o 4. 3Fd

Question ID : 26433065310
Status : Answered
Chosen Option : 3

Q.21

MG 4x2 +y2 =40 AR xy =68, Al 2x + y BT YATEHD HF 1d DI |
Ans X 1.6
X 2.4
3.8
X 4.5

Question ID : 26433076062
Status : Answered
Chosen Option : 3

Q.22 Tef 2020 / 2021 TF S A P ST H p% H1 HH g5 3N T B B w8 H g% Pt
Y | BT 'p', 'q A TST & 1 /T 'k faW 71Q a6 § 31 A B SE@T BT 2 B B
TRIRET @ ST 81 2020 ¥ 2021 9% 'x' ¥ fHaq ufazra &Y w32

Ans
X1 M
100—p
x o, 100(p—q)
100+ P
, 100(p—q)
(100—q)
x4 100(p—q)
100+q

Question ID : 26433075936
Status : Not Answered
Chosen Option : --

Q.23 wqawﬁgMﬁwm%m@%ﬁmiwﬁgﬂmwsﬂwwmim
MT = 12 cm Bl U Je T MAB 99 o1 fig A 3R B IR wfaedg svdi 21 afg MA =8
cm%,ﬁiﬁﬂTABﬁm(cmﬁ)W%?

Ans X 1.12
X209
« 3.10
X 4.16

Question ID : 26433075777
Status : Not Answered
Chosen Option : --




az A2 +2 = 1anda+b=2%. e’ + b ST HF TG BT
Ans X 1.1
& 2.0

X 3.3
X 4.2

Question ID : 26433079803
Status : Not Answered
Chosen Option : --

Q.25 T& P A U feeht 31 280 m 3T gt W @I feedt 10 kmvh Y 191 & S @l SR F
At 24 km/h P 9T A IW B F T deTI FT e & udps § fbar wug dm?

Ans X 1. 15fFe
2. 121
X 3. 1.3fFe
X 4. 14fFC

Question ID : 26433075889
Status : Not Answered
Chosen Option : --

Section : English Comprehension

Q.1 Select the correct active form of the given sentence.
This trail is not frequently visited by hikers.

Ans X 1. Hikers does not frequently visit this trail.
< 2. Hikers not have frequently visit this trail.
< 3. Hikers did not frequently visit this trail.

«” 4. Hikers do not visit this trail frequently.

Question ID : 264330104584
Status : Answered
Chosen Option : 4

Q.2 Select the INCORRECTLY spelt word.
Ans X 1. Benefitted

5 2. Athlete
< 3. Practically
«” 4. Antartic

Question ID : 26433061042
Status : Marked For Review
Chosen Option : 1




Q.3 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any
error, mark ‘No error’ as your answer.

He always / aimed highly / in life.
Ans X 1. No error
«” 2. aimed highly
5 3. He always
5 4.inlife

Question ID : 26433084859
Status : Answered
Chosen Option : 2

Q.4 Select the option that can be used as a one-word substitute for the given group of
words.

Existing in a land from the earliest times or from before the arrival of colonists
Ans X 1. Native

/< 2. Ancient
< 3. Original
«” 4. Aboriginal

Question ID : 26433071925
Status : Answered
Chosen Option : 2

Q.5 Select the most appropriate collocating word to fill in the blank.

Great people are always ready to responsibilities.
Ans < 1.burden

«” 2. shoulder
/< 3. secure
25 4. kindle

Question ID : 26433070456
Status : Answered
Chosen Option : 4

Q.6 In the given sentence the underlined word may have been incorrectly spelt. Identify
the option that rectifies the spelling. If there is no error in spelling, select ‘No error’.

The Education Ministry believes that after the reopening of the schools, it will take
some time to regain the equiliebrium.

Ans X 1. equelibrium
«” 2. equilibrium
25 3. No error
25 4. equilibreum

Question ID : 26433058643
Status : Answered
Chosen Option : 2




Q.7 Select the most appropriate synonym of the underlined word in the given sentence.
The essayist’s sole intention was to baffle his readers.
Ans X 1. Annoy
/5 2. Scold
«” 3. Puzzle
25 4. Influence

Question ID : 26433071955
Status : Answered
Chosen Option : 3

Q.8 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the correct order to form a meaningful and coherent paragraph.

A. Such problems include difficulty in implementing decisions, providing social
security to everyone and ensuring employment.

B. This is because almost all countries face problems related to their population.
C. The most crucial aspect of the problem is population pressure.

D. The population explosion is an important issue these days.

Ans X 1.CDAB
X 2. ABCD
< 3. DBCA
« 4. DBAC

Question ID : 26433058262
Status : Not Answered
Chosen Option : --

Q.9 Select the most appropriate option to complete the given sentence.
His brother his and gave him a watch after his result.

Ans 1. kept, promise
/< 2. lost, temper
/< 3. broke, record
< 4. took, word

Question ID : 26433084708
Status : Answered
Chosen Option : 1

Q.10 Select the correct active form of the given sentence.
The dog was terrified by the unexpected noise.

Ans X 1. The unexpected noise had terrified the dog.
/< 2. The unexpected noise terrifies the dog.
«” 3. The unexpected noise terrified the dog.

/< 4. The unexpected noise has terrified the dog.

Question ID : 264330104592
Status : Answered
Chosen Option : 3




Q.11 Identify the most appropriate ANTONYM of the underlined word in the given sentence.
The game continued due to heavy rainfall after the pitch became completely wet.

Ans X 1. disregarded
/< 2. played
«” 3. stopped
/< 4. ongoing

Question ID : 26433060407
Status : Answered
Chosen Option : 3

Q.12 Select the most appropriate ANTONYM of the given word.
Harmony

Ans X 1. Concord
/< 2. Consent
«” 3. Hostility
< 4. Congruity

Question ID : 26433060433
Status : Answered
Chosen Option : 1

Q.13 Select the most appropriate meaning of the underlined idiom.
When the war breaks out, all the war mongering social media activists become yellow
bellies.

Ans X 1. Zealots
«” 2. Cowards
/< 3. Sceptics
< 4. Upset stomachs

Question ID : 26433060190
Status : Not Answered
Chosen Option : --

Q.14 Select the option that can be used as a one-word substitute for the underlined words
in the given sentence.

Today my dad will teach me how to make a small shelter for my dog.
Ans X 1.shed

o 2. kennel
/< 3. burrow
< 4. canal

Question ID : 26433060680
Status : Answered
Chosen Option : 3




Q.15 Select the most appropriate ANTONYM of the word ‘IMMORAL’ from the given
sentence.

The city of Hamburg and its surrounding region have generally decent health, with no
pandemic ilinesses having lately developed to any significant degree.

Ans X 1.lliness
/< 2. Region
/5 3. Degree
«” 4. Decent

Question ID : 26433060705
Status : Answered
Chosen Option : 4

Q.16 Select the most appropriate meaning of the given idiom.
On the ball

Ans X 1. Doing a bad job
«” 2. To be alert
/< 3. To be lazy
/< 4. Doing an average job

Question ID : 26433066420
Status : Answered
Chosen Option : 2

Q.17 Select the sentence with the appropriate use of preposition.

Ans ” 1. By means of rope ladders they scaled the wall.
/% 2. Along with means of rope ladders they scaled the wall.
< 3. Of means of rope ladders they scaled the wall.

/5 4. In means of rope ladders they scaled the wall.

Question ID : 26433073894
Status : Answered
Chosen Option : 1

Q.18 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

The soldiers had no choice to report the loss to their commander.
Ans X 1.no choice as to
«” 2. no choice but to
/5 3. No substitution required

< 4. no choice how to

Question ID : 26433088438
Status : Answered
Chosen Option : 4

Q.19 Select the correct indirect form of the given sentence.
Radha said, “Why didn’t he forward his petition to me?”

Ans X 1.Radha enquired why had he not forwarded his petition to her.
/< 2. Radha enquired why he had not forward his petition to her.
«” 3. Radha enquired why he had not forwarded his petition to her.
/< 4. Radha enquired why he has not forwarded his petition to her.

Question ID : 264330104616
Status : Answered
Chosen Option : 3




Q.20

Ans

Rearrange the parts of the sentence in correct order.
Electrolytes like

P. important for balancing the water in your body

Q. are present in the body’s fluids and are

R. are electrically charged minerals that

S. sodium, potassium, chloride and magnesium

« 1. SRQP
< 2.SQRP
X 3.SPRQ
X 4.PQSR

Question ID : 264330104658
Status : Not Answered
Chosen Option : --

Q.21
Ans

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

India is one of the largest producers of tea in the world. The industry is (1)
recognised as technically very well (2) . The Indian tea industry is a (3)
one traditionally. Tea has been used in India for (4) purposes as well as for (5)

SubQuestion No : 21
Select the most appropriate option to fill in blank number 1.

«” 1. globally
5 2. industrially
< 3. tediously
5 4. mutually

Question ID : 26433088108
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

India is one of the largest producers of tea in the world. The industry is (1)
recognised as technically very well (2) . The Indian tea industry is a (3)
one traditionally. Tea has been used in India for (4) purposes as well as for (5)

SubQuestion No : 22

Q.22 Select the most appropriate option to fill in blank number 2.

Ans

< 1. establish
/5 2. pampered
/< 3. complex
«” 4. equipped

Question ID : 26433088109
Status : Answered
Chosen Option : 1




Q.23
Ans

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

India is one of the largest producers of tea in the world. The industry is (1)
recognised as technically very well (2) . The Indian tea industry is a (3)
one traditionally. Tea has been used in India for (4) purposes as well as for (5)

SubQuestion No : 23
Select the most appropriate option to fill in blank number 3.
/5 1. flourish

o 2. flourishing
/5 3. thrashing
< 4. condensing

Question ID : 26433088110
Status : Answered
Chosen Option : 2

Q.24
Ans

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

India is one of the largest producers of tea in the world. The industry is (1)
recognised as technically very well (2) . The Indian tea industry is a (3)
one traditionally. Tea has been used in India for (4) purposes as well as for (5)

SubQuestion No : 24
Select the most appropriate option to fill in blank number 4.

& 1. sick
«” 2. medicinal

< 3. immunology
& 4. immune

Question ID : 26433088111
Status : Answered
Chosen Option : 3

Q.25
Ans

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

India is one of the largest producers of tea in the world. The industry is (1)
recognised as technically very well (2) . The Indian tea industry is a (3)
one traditionally. Tea has been used in India for (4) purposes as well as for (5)

SubQuestion No : 25
Select the most appropriate option to fill in blank number 5.
5 1. retention

5 2. fulfillment
/< 3. advantage

«” 4. consumption

Question ID : 26433088112
Status : Answered
Chosen Option : 4




